
Chapter – Integers                    ( Class -7th ) 
Q1) The sum of two integers is -5.If one of them is -3,    then the other integer is: 

   do pUrn AMkW dw joV -5 hY[ jy aunHW iv`coN iek - 3 hY, qW dUjw sMpUrn AMk hY: 
      a)  2    b)       -2            c)     -7             d)     7 
Q3)  Natural numbers, zero and their –ves together constitute________. 

   pRwikRqk sMiKAwvW, zIro Aqy aunHW dy irxwqmk imlky ____ bxwaNudy hn. 
     (a) Fraction             b)   Whole number     
     (c)   Real number   d)   Integers 
Q4) Division of two numbers is zero .If one of the number is -567 then find the other one.  

   do sMiKAwvW dw BwgPl zIro hY[jykr sMiKAwvW iv`coN ie`k -567 hY qW dUjI sMiKAw pqw kro[ 
a) -567      b)   -1       c)   +1      d)  0 

Q6) The sum  of two integers is always  a/an  ______. 

   do sMpUrn sMiKAwvW dw joV hmySw  ie`k ________ sMiKAw huMdI hY[ 
    (a) Integer  (sMpUrn sMiKAw) 

  (b) Whole number (pUrn  sMiKAw)                            (c)  Fraction  (iBMn)     

 (d)  Natural number (pRwikRqk sMiKAw) 

Q7)  Product of two numbers is -5. If one of them is 1   then what will be the other number? 

    do sMiKAwvW dw guxnPl -5 hY, jy aunHW ivcoN  ie`k 1 hY, qW dUjw kI hovygw? 
a)     -5      b) 5      c)  1        d)    -1 

Q9) Additive identity for integer is______. 

    sMpUrn sMiKAwvW leI joVwqmk qqsmk __ hY[ 
a) 0         b)  1         c)  -1       d)  2 

Q11) Which of the following number when divided by  -6 gives 12? 

    ikhVI sMiKAw nUM jdoN -6 nwl vMifAw jWdw hY qW  12 pRwpq huMdw hY? 

a)  -18      b)  72         c)  -72            d)   84 
Q12) Additive inverse of -2 is________. 

    -2 dw joVwqmk ault _______hY[ 

a) 1            b)  2            c)   -1             d)     -2 
Q14) According to  Distributive law  (vMfkwrI inXm Anuswr)  ax(b+c)=_________ 
      a) axb-axc     b)   axbxc+c   c) axb+bxc  d)  axb+axc 
Q16) What you will get  when a number x is added to its additive inverse?  

    iek nMbr x ƒ aus dy joVwqmk ault ivc joVn   qy kI pRwpq huMdw hY? 
         a)  x      b) -x      c)    2x        d)  0 
Q18) The set of integers is not closed under _______. 

  sMpUrn sMiKAwvW dw sY~t _______ ADIn bMd nhIN huMdIAW?  
a) addition (joV)         b)subtraction (Gtwau)          c)multiplication (guxw)   d) division (Bwg) 

Q19) Ram multiplied two numbers and got  -4 as the product .Then he subtracted the second number from  the 
first and got 5. Find the numbers.  

     rwm nUM do sMiKAwvW dI guxw krky -4 pRwpq huMdw hY qy iPr ausny pihlI sMiKAw iv`coN dUjI sMiKAw nUM 
Gtw id~qw  Aqy 5 pRwpq kIqw [ dovyN sMiKAwvW pqw kro[ 

          a)  2,-3        b)  -1,4      c)  1,-4      d)  5,-1     

Q20) In a quiz team A scored 40, -10, 0 marks and team B scored  10,0,-40 marks in three successive rounds. 
Which team scored more?  

     ie`k kuiez ivc tIm A ny 40,-10,0 AMk Aqy tIm B ƒ 10,0, -40 AMk lgwqwr iqMn dOrW ivc 
bxwey|iks tIm ny vDyry skor bxwey ? 



          a)  A            b)    B           c) Both have same scores.                    d)  none of these  
      Short questions ( 2 Marks) 
Q1 Find the value of : 
       mu`l pqw kro: 
        0-1+2-3+4-5+6-7+8-……………..+16-17+18-19+20 
Q2 . Use  number line to find the value of -7 x 2. 

sMiKAw ryKw dI vrqoN krky -7 x 2 dw mu`l pqw kro[ 
Q3 . For all non zero integers a and b , a x b is always greater than either a or b.( True/false) 
do gYr isPr sMpUrn sMiKAwvW a Aqy b  leI, a x b dw mul̀ hmySw a jW b qoN v`fw huMdw hY[( s`c/JUT) 
Q4. Product of three integers is -600. If two of them are -15 and 10 then third integer will be? 

iqMn sMpUrn sMiKAwvW dw  guxnPl -600 hY| jy aunHW iv`coN do -15 Aqy 10 hn qW qIjw sMpUrn AMk hovygw? 

Q5 . Reena climbs up 5 stairs every second and then steps  down two stairs over the next second. How many 

second will she take to climb sixty stairs? 

rInw hr sikMt iv`c 5 pOVIAW cVHdI hY Aqy iPr Agly sYikMf qoN do pOVIAW au`qr jWdI hY. auh s~T pOVIAW 
cVHn leI ikMny sikMt lvygI? 

Q6. Fill in the blank with <, > or =  
    KwlI bwks ivc̀ <, > jW = Bro 
        -2x(-1)x4x2x(-3)             (-2)+(-1)+4+2-(-3) 

Triangle and its properties (iqRBuj Aqy ausdy gux)                                                        
Q1. In a right angled triangle the angles other  than the right angle are of the type  ? 

 (a)   Obtuse  (b) Right   (c) Acute    (d)   Straight   
Q1.iksy smkox iqRBuj ivc̀ smkox qoN ielwvw bwkI kox iks pRkwr dy hMudy hn? 
(a) AiDk kox        (b) smkox                   (c) inaun kox     (d)is`Dw kox 

Q2.In an isosceles triangle, one angle is 70
0
  . The other two angle are of  measure? 

Q2.iek smdoBujI iqRBuj iv`c ,ijsdw ie`k kox 700 hY, bwkI do koxW dw mwp kI hovygw? 

(a)  55
0
 and 55

0
    (b) 70

0
 and 50

0
   (c) 65

0
 and 65

0
      (d) ienHW iv`co koeI nhIN   (None of these)  

Q3.If lengths of sides of a triangle are 6cm, 8cm and 10cm, then the triangle is ? 
 (a) obtuse angled  triangle    (b) Acute angled triangle (c)  Right angled triangle (d) isosceles  triangle  

Q3.iksy iqRBuj dIAW Bujwvw 6sm, 8sm, 10sm hn qW iqRBuj iks iksm dI hovygI?  
 (a) AiDk koxI iqkox (b) inaUn koxI iqkox (c)  smkoxI iqkox  (d) smdoBujI iqkox 

Q4. If one angle of a triangle is equal to the sum of the other two angles, then the type of triangle is:   

(a) Obtuse angled  triangle  (b) Acute  angled triangle (c) Right angled triangle (d) Equilateral triangle  
Q4. jykr iqRBuj dw ie`k kox bwkI do koxW dy joV  dy brwbr huMdw hY ,qW ieh iks iksm dI iqkox hovygI: 
(a) A`iDk koxI iqkox  (b) inaUn koxI iqkox  

 (c) smkoxI iqkox (d) smBujI iqkox  
Q5.In the given figure ,the sum of angles is:  
id`qy hoey ic`qr ivc̀ koxW dw joV:  
A + B + C + D + 

E +  F 

  (a)  190
0
    (b)  540

0
 

  (c) 360
0
     (d)   180

0
 



6.If in the ∆ ABC, AD is the bisector of  A 

    meeting BC at D, CF AB and E is mid point of 

     AC, then  median  of the triangle is:
 

(a) AD       (b)  BE         ( c)   FC             (d) DE
 

Q6.∆ABC iv`c AD ,A dw  
   smduBwjk hY,jo BCnUM ibMdU D qy imldw hY, CF AB Aqy ibMdU E, AC dw m`D ibMdU hY,  
     qW iqRBuj dI miDk̀w hovygI: 

  (a)   AD      (b)  BE      ( c)   FC   (d) DE 

Q7.Which of the following triplets cannot be the    angles of a triangle ? 
Q7. iehnW iv`co ikhVy iqRg`ut iqRBuj dy kox nhIN ho     skdy[ 

(a) 61
0
 ,57

0
 ,62

0
         (b) 70

0
 ,83

0
 ,27

0
 

 (c) 90
0
 ,70

0
 ,20

0
        (d) 40

0
 ,132

0
  , 18

0
 

Q8.Which of the following can be the length of   the third side of a triangle whose two sides are of measure 

18cm and 14 cm . 

Q8.iehnW iv`co ikhVI iqRBuj dI qIsrI Bujw ho skdI    hY,ijs dIAW do Bujwvw dI lMbweI 18sm Aqy 14sm hY[ 

(a)  4cm         (b)  3cm       (c) 32cm        (d) 5 cm 

Q9.In a right angled triangle ABC if B = 90
0
 ,then 

    which of the following is true: 

Q9. ie`k smkoxI iqRBuj ivc̀ B = 900 hovy qW iehnW iv`cNo ikhVw shI hY: 
    (a) AB

2
 = BC

2
 + AC

2      
 (b) AC

2
 = AB

2
 + BC

2     
 

    (c)AB
2
 = BC

2
 – AC

2
     (d) BC

2
 = AB

2
 + AC

2
 

Q10.Every triangle has atleast ….. acute angles . 

Q10.hryk iqRBuj iv`c G`to Gt …inaUn kox huMdy hn [ 

  (a) 2    (b) 1  (c) 3  (d) ienHW iv`co koeI nhIN  
Q11.In the given figure in  ∆PQR ,     PQ = PR then the measure of  Q and R is:                                                                                     

Q11. id`qy ic`qr iv`c ∆PQR   iv`c  PQ = PR qW Q   AqyR dw mwp pqw kro [ 

(a) 50
0
 , 50

0
 (b) 75

0
 , 75

0
 (c) 75

0
 , 50

0
 ( d) 150

0
 , 150

0
 

Q12.How many altitudes are there in a triangle? 

 Q12.iksy iqRBuj dy ikMny isKr lMb huMdy hn? 

 (a) 1          (b) 3            (c) 6                          (d) 9 

Q13.The sides of a triangle have lengths (in cm) 10 ,   6.5  and  a, where  a  is a whole number,  the   

  minimum value that a can have:  

Q13.iksy iqRBuj dIAW Bujwvw (sYNtImItrw iv`c ) 10,  6.5, a hY, ie`Qy a ie`k pUrn sMiKAw hY qW a dw G`to 
 G`t mu`l kI hovygw? 

Q14. In the given figure BC = CA      and A = 40
0
 then ACD  is  

   equal to:   

Q14. id`qy hoey ic`qr iv`c BC = CA qy A = 400  qW ACD brwbr hY: 
 (a) 40

0
       (b) 80

0
       (c) 120

0
               (d) 60

0
 

Q15.In the figure AB꡷CD.   Which  one is true ? 

 

 

 



Q15.id`qy ic`qr iv`c AB꡷CD     ienHW iv`coN ikhVw kQn shI hY[ 

      (a)  2 =3                 b) 1=4                     

       (c) 4  =  1 +2    (d) 1 + 2 = 3 + 4  
                               2 marks

 

Q1.I have three sides one of my angle measures 15
0 

another has a measure 60
0
. What kind of a polygon am 

I ? If I am a triangle then what kind of triangle am I ? 

Q1.myrI iqMn BujwvW hn[myrw ie`k kox 150 qy dujw  kox 600 hY[mNY iks qrHW dI bhuBuj hW? jy mNY iqRBuj 
  hW qW iks iksm dI iqRBuj hW ? 

Q2. Jiya walks 6 km east and then 8 km due north how far is she from strating place . 

Q2.jIAw 6 ik.mI. pUrv vl qy 8 ik.mI. au`qr idSw v`l jWdI hY qW auh Awpxy AwrMiBk ibMdu qo ikMnI dUrI 
  qy hY? 
Q3. In the given figure find  the values of x and y.  

Q3. id`qy hoey ic`qr iv`c x  Aqy y dw mu`l pqw kro[ 

Q4. In ∆PQR if P= 60
0
 , Q=40

0
 then find exterior  angle formed by 

producing QR. 

Q4. ∆PQR iv`cP= 60
0 Aqy Q=40

0  hY[ Bujw QR nUM vDwaux nwl bxy bwhrI 
kox dw mwp pqw kro[ 

Q5.In ∆XYZ ,the measure of X is 30
0
 greater then   the measure of Y and Z is right angle. Find the 

       measure of Y. 

Q5.∆XYZ iv`cX dw mwpY qNo 300 v`D hY[Z ie`k smkox hY[Y dw mwp pqw kro[ 
Q6. The length of two sides of an isosceles triangle are 9cm and 20cm .What is perimeter of the triangle? 

Give reason. 

Q6.iksy smdoBujI iqRBuj dI do BujwvW dw mwp 9sm Aqy 20sm hY[ies iqRBuj dw pirmwp ikMnw hovygw? kwrn 
d`so[ 

Q7.For the given figure write suitable 

  sign < , > or = in given blanks . 

Q7.id`qy hoey ic`qr qNo KwlI QwvW iv`c  Fu`kvy inSwn < , > jW =  Bro [ 

            (1)DE …….. EF +DF         (2.)     EF – DE ……..DF 

       Q8.Is it possible to have a triangle with two 

        obtuse angles ? Give reason. 

Q8. ik iksy iqRBuj iv`c do AiDk kox ho skdy hn? Kwrn dso[ 
Q9.In the given figure find the  value of x .  

Q9.id`qy ic`qr iv`c x dw mu`l pqw kro[ 

Q10.Each of the two equal angles of an isosceles 

triangle is four times the third angle. Find the angles of triangle . 

Q10.ie`k smdoBujI iqRBuj iv`c dy brwbr kox qIjy kox dy cwr guxW hn[ iqRBUj dy koxW dw mwp pqw kro[ 
11.In the given figure ∆PQR  is right angled at P.U and T  

      are the points on line QR. If  QP꡷ST and US ꡷RP find S.  

Q11.id`qy hoey ic``qr iv`c ∆PQR 

 



 ie``k smkoxI iqRBuj hY ijsdwP =900 hY[ibMdU U Aqy T ryKw QR au`qy siQq hn[ 
QP꡷ST Aqy US ꡷RP hY qW S dw mwp pqw kro[ 

Q12.In the given figure U is the mid point of line 

segment YZ. Now  

(1) Line segment XT is ……  

(2) Line segment XU is ……………..                                        

Q12.id`qy hoey ic`qr iv`c U,  

ryKwKMf YZ dw m`D ibMdU hY[ 

1. ryKwKMf XT………….hY[   
2. ryKwKMf XU…………..hY[ 

Q13.Find the perimeter of  

triangle ABC. 

Q13.id`qy gey ic`qr iv`c ∆ 

ABC dw pirmwp pqw kro[ 

 

 

2 Marks 

 1.Triangles , obtuse angled triangle    2.10 km  

3. x=60
0
 ,y=120

0
   4.100

0
 5. 30

0
   6. 49

0
 7.     < ,  < 

8.Sum of angle become more than 180
0
 

 9. 100
0
10  .   20

0
 ,80

0
 ,80

0
  11. 90

0
           12.Altitude , Median            13.36c 

 
Congruency of triangles (iqRBujW dI srbMgsmqw) 

Q1. If  ∆ABC and ∆DEF the correspondence CAB ↔EDF gives a congruence ,then which of the following 

is not true: 

1.jykr ∆ABC qy ∆DEF sumyln CAB↔EDF dy AMqrgq srbMgsm hox qW iehnW iv`co ikhVw kQn shI nhIN 
: 
  (a)   AC = DE           (b)   AB = EF        

  (c)  A =D        (d)  C = E    

Q2. By which congruency criterion , 

the two triangles in given figure are 

 congruent ? 

        Q2 .srbMgsmqw dy ikhVy inXm Anuswr 
 id`qy hoey ic`qr ivc̀ do iqRBujW srbMgsm hn[  

(a)  SSS     (b) RHS   (c) ASA   (d)  SAS                           

       Q3.If ∆PQR ∆STU then what is the length 

       of TU?  

       Q3.jykr ∆PQR ∆STU qW TU dI lMbweI   
    kI hovygI? 
       (a)5 cm (b) 6cm (c)7cm (d)ienHW iv`co koeI nhIN  

 

 

 

 



Q4. By which of the following criterion two 

       triangles cannot be proved congruent  
        Q4. iehnW iv`co ikhVw srbMgsmqw dw inXm        
     nhI hY? 
        (a) AAA  (b) SSS  (c)  SAS   (d) ASA    

        Q5. In the given figure AD BC and  

         AD is  bisector of BAC . Then  

∆ABD ∆ACD by which congruence criterion? 

        Q5. id`qy ic`qr iv`c ADBC qy AD,BAC  

dw smduBwjk hY qW∆ABC ∆ACD iks srbMgsmqw dy inXm Anuswr srbMgsm hY ? 
 (a) ASA    (b) SAS    (c) SSS         (d) RHS 

        Q6.Which of the following statements is true  

(a)Two acute angles are congruent . 

(b)If the area of two triangles is same ,then they are congruent . 

(c) Two right angles are congruent . 

(d) If the area of two rectangles are same ,they are congruent . 

         Q6. iehnW iv`coN ikhVw kQn shI hY [ 
          (a)do inaUn kox srbMgsm huMdy hn [ 
(b)jykr do iqRBujW dw KyqrPl brwbr hovy qW   
        auh srbMgsm huMdy hn [ 

(c )do smkox srbMgsm huMdy hn [ 

(d)jykr do AwieqW dw KyqrPl brwbr hovy qW auh srbMgsm huMdy hn[ 

 

Q7.In the given figure 1 = 2 and 

3 = 4 by which congruence  

criterion ∆ADC ∆ ABC.                                                                                                             

Q7.id`qy hoey ic`qr iv`c  
1 = 2  qy 3 = 4 srbMgsmqw 
 dy ikhVy inXm dy AMqrgq ∆ADC ∆ABC hY[ 
  (a)  SAS    (b) RHS     (c) ASA      (d) SSS                                    Q8. In the given figure QS  PR ,  

RT PQ and QS = RT ,by which 

 congruence criterion  

∆QSR ∆RTQ.                                                                                                 

Q8.id`qy ic`qr iv`c QS  PR ,  

RT PQ qy QS = RT srbMgsmqw dy ikhVy inXm dy  
AMqrgq ∆QSR ∆RTQ |

 

       (a) RHS  (b) SSS   (c)  SAS   ( d)  ASA    

Q9.If ∆ABC and ∆DBC are on 

 the same base BC ,AB = DC and 

 

 

 

 



 AC = BD then which of the  

following gives a correct   

congruence relationship . 

 Q9.jykr ∆ABC Aqy ∆DBC ie`ko ADwr BC qy hn AB = DC Aqy AC = BD qW ienHW iv`co ikhVw shI hY? 

(a)  ∆ABC∆DBC            b) ∆ABC ∆CBD     

 ( c)  ∆ABC ∆DCB          (d) ∆ABC ∆BCD                                                                                                                        

Q10. In the given figure the 

 value of x is:  

Q10.id`qy hoey ic`qr iv`c 
x dw mu`l d`so[ 

  (a) 5   (b)   3     (c)   7         (d)   koeI nhIN  
Q11.In the given figure if M is the midpoint of both AC and BD then:- 

 Q11..id`qy ic`qr iv`c  jykr M ,AC qy 
BD dw m`D ibMdU hY qW ?  

(a)1 = 2              (b)1 = 4  

(c) 2 = 4             (d) 1 = 3      

  Q12.Which one is not correct : 

 (a)If the areas of two circles are the same , 

they are congruent . 

(b)Two circles having same circumference  

are congruent . 

(c)Two figures are congruent ,if they have 

 same  shape. 

 (d)Two squares having same perimeter  

are congruent . 

Q12.iehnW iv`coN ikhVw shI nhIN hY[ 

(a)jykr do c`krW dw KyqrPL brwbr hovy qW auh srbMgsm huMdy hn [ 

(b)jykr do ck̀rW dw Gyrw brwbr hovy qW auh srbMgsm huMdy hn[ 

(c)do AwikRiqAW srbMgsm huMdIAW hn jykr auhnW dw rUp ie~k smwn hovy[ 

(d)jykr do vrgW dw pirmwp brwbr hovy qW auh srbMgsm huMdy hn[ 

Q13.In the given figure ∆PQR  …….. 
Q13.id`qy hoey ic`qr iv`c ∆PQR …….. 

 (a) ∆XYZ 

(b) ∆XZY 

(c) ∆YZX 

(d) ∆ZXY 

14. In the given figure ,∆………..∆PQR  

14. id`qy hoey ic`qr ivc̀ ∆…………  ∆PQR 
  (a) ∆QDR     

  (b) ∆DRQ     

 

 



 (c) ∆QRD    

(d) iehnw iv`co koeI nhIN  
Q15.In the given figure if POQ ROS then POR  ……… 

Q15.id`qy hoey ic`qr iv`c POQ ROS qWPOR  ……… 

 (a)ROQ 
    (b)ROS 
    (c) POQ   

      (d)QOS 

Q16.In the given figure square ABCD  Square PQRS    if AB = 4 cm ,then PQ is equal to? 

Q16.id`qy hoey ic`qr iv`c vrg ABCD vrg PQRS  jykr AB = 4sm qW PQ =….. 
  (a) 2cm    (b) 3cm       (c) 4cm      (d) 5cm  

COMPARING QUANTITIES/ rwSIAW dI qulnw 
Q1. The ratio of the heights of  150 cm and 75  cm of two persons can be written as: 
Q1.do ivAkqIAW dIAW aucweIAW 150 sm Aqy 75 sm dw Anupwq iliKAw jw skdw hY: 
(a) 1 : 50  (b) 1 : 5 (c) 2 : 1   (d) 1 : 2 

Q2.   20 marbles are divided between Rita and Amit such that Rita has 12 marbles andAmit has 8 

marbles , the ratio of marbles of both can be written as : 

Q2. 20 bMty rItw Aqy Aimq iv`c ies qrHW vMfdy hW ik rItw nMU 12 bMty Aqy Aimq nMU 8 bMty imldy 
hn[dohW dy bMitAW dy Anupwq iliKAw jw skdw hY: 
 (a) 2 : 3 (b) 3 : 2 (c) 12 : 8 (d) 20 : 12 
Q3.  The speed of a Cheetah is 6 times the speed of a Man. If Speed of Cheetah is 120 km/h  then the 

speed of the man will be:  

Q3. cIqy dI cwl AwdmI dI cwl dy 6 guxw hY[jykr cIqy dI cwl 120 ik.mI/GMtw hovy qW AwdmI dI cwl 
hovygI: 
(a) 6 km/h (b) 72 km/h(c) 60km/h   (d) 20 km/h 
Q4.Which of the following is the ratio of 3 km to 300m ? 
Q4. iehnW iv`co 3 iklomItr dw 300 mItr nwl Anupwq ikhVw hY ? 
(a) 10 : 1 (b) 1 : 10 (c) 100 : 1(d) 1 : 100 

Q5.If  1000 : X  = 2 : 2.5 ,what will be the value of “X” 

Q5.jykr 1000 : X = 2 : 2.5 hovy qW “X” dw mul̀ kI hovygw ? 
(a) 2000   (b) 2500   (c ) 1250 (d) 0.005  

Q6. Percent is derived from Latin word „percentum’ whose literal meaning is:  

   (a)  per hundred           (b) per ten                 (c) per thousand            (d) none of these. 

Q6.pRqISq (Percent ) Sbd lqInI (Latin) BwSw dy ie`k Sbd „percentum‟qoN ilAw igAw hY ijs dw 
ArQ hY : 
   (a)  pRqI ie`k so           (b) pRqI ie`k ds           (c) pRqI ie`k hzwr            (d) iehnW iv`co koeI nhIN [ 
Q7. Percent is represented by the symbol: 

7.pRqISq nMU iks icMnH nwl drswieAw jWdw hY ? 

   (a)   π   (b)  ≠     (c)  √   d)  %. 



Q8. 1% is equal to 

Q8. 1% brwbr hY [ 

(a) 100    (b)  10   (c)  
1

100
   (d)  0.1 

Q9. 0.07 is equal to 

Q9.0.07 brwbr hY [ 
(a) 70%   (b) 7%   (c) 0.7%    (d) 0.07% 

Q10. The ratio of Fatima‟s income to her savings is 4 : 1. The percentage of money saved by her is : 

Q10.PwiqmW dI Awmdn dw b`cq nwl Anupwq 4:1 hY[aus duAwrw kIqI b`cq rwSI dw pRqISq hY  
   (a) 75%     (b) 25%    (c) 40%   (d) 80% 

Q 11. What percent of 4500 is 9000? 

Q11. 9000 , 4500 dw ikMny pRqISq hY ? 

(a) 200 (b)
1

2
(c) 2       (d) 50 

Q12. The ratio 3 : 8 is equal to: 

Q12. Anupwq 3:8 brwbr hY : 
(a) 3.75%    (b) 37.5% (c) 0.375% (d) 267% 

Q13. Out of 50 children in a class, 20 are boys. Then the percentage of girls is: 

Q13. 50 b`icAW dI ie`k jmwq iv`c, 20 muMfy hn qW lVkIAW dI pRqISq hovygI: 

   (a) 60       (b) 30       (c) 50  (d) 66 
2

3
 

Q14. A cricket bat was purchased for RS.800 and was sold for RS.1600 , Then profit earned is: 

Q14. ie`k ikRkt b`lw 800 rupey ivc̀ KrIidAw Aqy 1600 rupey iv`c vyicAw igAw qW lwB pRqISq hY:  
 (a) 100%       (b) 64%         (c) 50%       (d) 60% 
 

Q15.If 90% of x is 315 km, then the value of x is 

   Q15. jykr x dw 90% ,315 ik.mI hovy qW x dw hY ? 
    (a) 325 km   (b) 350 km   (c) 405 km   (d) 340 km 

   (a) 75%   (b) 50%    (c) 40%      (d) 60% 

Q17.If there is a profit ,which one is true ? 

(a) S.P < C.P          (b) S.P>C.P        

    (c) S.P = C.P             (d) None of these 

Q17.jykr lwB hovy ,qW ikhVw kQn shI hY ? 
(a) vycmu`l <KrIdmu`l      (b) vycmu`l >KrIdmu`l    (c) vycmu`l = KrIdmu`l      (d) iehnW iv`c koeI 

nhIN[   
Q18.Profit or Loss percentage is always calculated on ______ 

(a) S.P                   (b) C.P              

      (c) M.P                  (d) None of these. 

Q18.lwB jW hwnI pRqISq hmySw ____________ qy inrDwirq huMdw hY [ 
(a) vyc mu`l    (b) KrId mu`l   

(b) AMikq m`ul (d) iehnW ivc̀o koeI nhIN[  

Q19.Fill the blanks  : S.P = 
( 100+𝑃%)

100
 ×  

(a) C.P   (b) S.P  (c) M.P  (d) None of these. 



Q19.KwlI sQwn Bro : vyc mu`l =( 100+𝑃%)

100
× 

(a) KrId mu`l     (b) vyc mu`l    (c) AMikq m`ul (d) iehnW iv`co koeI nhIN 
Q20. The money you borrow is known as____ 
(a) Interest (b) Rate(c) Amount   (d) Principal. 

Q20. auDwr ley gey Dn nMU____ ikhw jWdw hY [ 
(a)ivAwj(b) dr (c) imSrqDn(d) mUlDn 

Q21. Which statement is true? 

(a) Amount = Principal + Interest.            

(b) Principal = Amount + Interest 

(c) Interest = Amount + Principal.            

(d) (d) Amount = Principal - Interest. 

Q21.ikhVw kQn shI hY ? 
(a) imSrqDn = mUlDn + ivAwj 

(b) mUlDn  = imSrqDn + ivAwj 

(c) ivAwj = imSrqDn+ mUlDn 

(d) imSrqDn = mUlDn- ivAwj. 
Q22.If the principal of  Rs.P at R% rate of interest per year, the interest paid forT years would be 

Q22. mUlDn nMU P rupey leI R% slwnw dI dr nwl T swl dw ivAwj hovygW [ 

(𝑎)
𝑃+𝑅+𝑇

100
(b) 

𝑃×𝑅×𝑇

100
 (c) 

𝑃−𝑅−𝑇

100
 (d) 

𝑃÷𝑅÷𝑇

100
 

Q23.To convert a fraction into a percent, we _________ it by 100%. 

(a)Multiply (b) Divide  (c) add   (b) subtract . 

Q23.iBMn nUM pRqISq iv`c qbdIl krn leI ,AsI iBMn nUM 100% nwl ______ krdy hW [ 
(a)guxw(b) Bwg (c) joV(b) GtwE  

Q24.Fill in the blanks :  Percentage of change  =
𝐶ℎ𝑎𝑛𝑔𝑒  

………..
 × 100 

(a) Increased value        (b) decreased value      (c) Original value       (d) None of these. 

Q24.KwlI sQwn Bro : bdlwA dw pRqISq = =𝑪𝒉𝒂𝒏𝒈𝒆 

………..
× 100 

(a)vDI rwSI            (b)  GtI rwSI 
 (c) Asl rwSI(d) iehnW iv`co koeI nhIN[ 
Q25.If angles of a triangle are in the ratio 1:3:5 .The value of the greatest angles is ___ 

Q25.jykr iqkox dy koxw dw Anupwq 1:3:5 hovy[sB qo v`fy kox dw mwp ________ hovygw 
(a)90

0
  (b)100

0
  (c)180

0
d)80

0 
2 Marks questions / 2 AMkW vwly pRSn [ 
Q1.Find the value of x if 
 45% of marks x is 405. 

Q1. x dw mu`l pqw kro jykr 
x dw 45% ,405 rupey hY [ 

Q2. Express 33 
1

3
 % as a ratio in the lowest term. 

Q2. 33 
1

3
 %nMU Anupwq dy srl rUp iv`c drswE  



Q3. What per cent of 1 day is 1 minute? 

Q3. 1  imMt , 1 idn dw ikMny pRqISq hY ? 
Q4. Out of 32 students, 8 are absent. What per cent of the students are present? 

4.32 ividAwrQIAW iv`co 8 ividAwrQI gYr hwzr hn[hwzr ividAwrQIAW dw pRqISq kI hY ? 
Q5. A piece of cloth 5cm long shrinks 10% of washing .How long will the cloth be after washing .  

Q5.k`pVy dw ie`k tukVw 5 mItr lMbw hY,qy k`pVy nMU Dox qo bwAd 10% sukV jWdw hY [dso Dox qo bwAd 
k`pVy dI lMbweI ikMnI hovygI ? 
Q6. A shop has 500 items, out of which 5 are defective. What per cent of items are defective? 
Q6.ie`k dukwn kol 500 vsqUAW hn [auhnW iv`co 5 Krwb hn[Krwb vsqUAW dw pRqISq kI hY ? 
Q7. 8% children of a class of 25 like getting wet in the rain. How many children like getting wet in the 

rain. 

Q7. 25 b`icAW dI jmwq iv`c 8% b`cy mINh iv`c iB`jxw psMd krdy hn [mINh iv`c iB`jx vwly b`icAW dI 
igxqI  pqw kro [ 

Q8. 9 is 25% of what number? 

Q8. 9 ikhVI sMiKAw dw 25% hY ? 
Q9. Divide 15 sweets between Manu and Sonu so that they get 20 % and 80 % of them respectively. 

Q9 . 15 imTweIAW nMU mnMU Aqy sonMU iv`c ies pRkwr vMfo ik auhnW nMU ku`l imTweI dw kRmvwr 20% Aqy 
80% imly[ 
Q10. Find Percentage of increase or decrease: 

(i)Price of shirt decreased from Rs.280 to Rs.210. 

(ii)Marks in a test increased from 20 to 30. 

Q10.vwDy Aqy Gwty dw pRqISq pqw kro [ 
(a)kmIj dw mu`l 80 rupey qoN G`t ky 60 rupey rih igAw [ 
(b)iksy pRIiKAw iv`c pRwpq AMk v`D ky 20 qoN 30 ho gey [ 
Q11. A shopkeeper bought a chair for Rs.375 and sold it for Rs.400. Find the gain percentage. 

Q11. ie`k dukwndwr ny ie`k kursI 375 rupey iv`c KrIdI Aqy 400 rupey iv`c vyc id`qI[ausdw lwB pqw 
kro[ 

Q12.Rs. 10,000 is invested at 5% interest rate p.a. Find the interest at the end of one year. 

Q12.10000rupey 5%slwnw dr nwl jd ikMnw jmwH kIqy jwdy hn [ ie`k swl bwAd ikMnwH ivAwj pRwpq 
hovygw? 
Q13. On a certain sum the interest paid after 3 years is Rs.450 at 5% rate of interest perannum. Find 

the sum. 

Q13. iksy rwSI dw 5% pRqISq slwnw dr qy 3 swl dw ivAwj 450 rupey hMudw hY [auh rwSI pqw kro [ 
Q14. You have Rs.2,400 in your account and the interest rate is 5%. After how many yearswould you 

earn Rs.240 as interest. 

Q14. quhwfy bYNk Kwqy iv`c 2400 rupey jmWH hn 
Aqy ivAwj dI dr 5% slwnw hY [ikMny swlW 
bwAd ivAwz dI rwSI 240 rupey hovygI ?  
 

AMkVw ivigAwn 
1.hyT iliKAW iv`coN m`Dmwn leI ikhVw kQn shI  
hY :  
 (a)ieh hr pRyKx qoN v`fw huMdw hY[   

(b)ieh hr pRyKx qoN Cotw huMdw hY[   



(c)ieh sB qoN Coty Aqy sB qoN v`fy pRyKx dy ivckwr huMdw hY[ 
(d)iehnW ivcoN koeI vI nhIN[ 
1. For  mean ,which  statement is true from the following: 
(a)It is greater than each  observation. 
(b)It is smaller than each  observation. 
(c)It  lies between highest and lowest observation. 
(d)None of these 
2.ikhVy kyNdrI pRivrqI mwp nUM pqw krn leI pRyKxW nUM kdy vI v`Ddy jW Gtdy kRm iv`c ilKx dI  zrUrq nhIN 
huMdI : 
(a)bhulk(b) m`Dmwn (c) m`iDkw(d) iehnW ivcoN koeI vI nhI[ 
2.We never need to arrange the data in ascending or descending order to calculate which of the following: 

(a) Mode  (b)Mean  (c) Median  (d) None of these. 
3.AMkiVAW dy smUh dy kyNdrI pRivrqI mwp m`Dmwn, bhulk Aqy m`iDkw leI ikhVw kQn shI hY : 
 (a)ieh hmySw brwbr huMdy hn[  
(b)ieh kdy brwbr nhI huMdy[  
(c)ieh kdy-kdyy brwbr vI ho skdy hn[  
(d)koeI vI shI nhIN[ 
3.Which  statement is true for measure of central tendency like mean, mode and median of the given data:  
(a)These are always equal. 
(b)These are not always equal. 
(c)Sometimes these may be equal. 
(d)None is these. 
4.id`qy hoey pRyKxW dy ie``k smUh iv`c sB qoN v`D bwrMbwrqw vwly kyNdrI pRivrqI mwp nUM kI kihMdy hn : 
(a)bhulk             (b)m`Dmwn                       (c)m`iDkw             (d)ienHW ivcoN koeI vI nhIN 
[4.What is measure of central tendency called that occurs most frequently in the given data ? 

(a) Mode    (b) Mean   (c) Median    (d)None of these 
(5)iksy ipkink qy jykr hryk ividAwrQI dy Kwx leI v`K-v`K iksmW dy Pl KrIdy jwx, pr hr 
ividAwrQI nMU kyvl ie`k hI Pl imly qW quhwnMU ikhVw Pl imlygw,ies leI ikhVy kyNdrI pRivrqI mwp dI 
vrqoN sB qoN v`D FukvIN hovygI : 
(a)bhulk(b) m`Dmwn (c) m`iDkw 
(d) iehnW ivcoN koeI vI nhIN[  
    (5)When going on a picnic, if only one fruit is given to one student from different type of fruits, 

which is the fruit that you would get? What measure of central tendency would be most appropriate ? 

(a) Mode   (b)  Mean(c)  Median(d)  None of these 
6. qusIN Awpxy Gr dy mu`K drvwjy dI aucweI pqw krnI hY, ijs rwhI Gr dy swry mYNbr AwswnI nwl lMG 
skx, ies leI iks kyNdrI pRivrqI mwp dI vrqoN kIqI jwvygI: 
 (a)bhulk (b) m`Dmwn (c) m`iDkw(d) iehnW ivcoN koeI vI nhI[  
 6.You  need to find the height of the door needed in your house so that all members of family  be able 

to go through that door, What measure of central tendency would be most appropriate ?  



(a) Mode                     (b) Mean                                     (c) Median                  (d) None of these 
7.qsIN Awpxy jnm idn dy pRogrwm qy 15 ivAkqIAW dy Kwx leI rotIAW dI ku`l sMiKAw pqw krnI 
hY,ies leI ikhVy kyNdrI pRivrqI mwp dI vrqoN sB qoN v`D FukvIN hovygI : 
(a)bhulk         (b) m`Dmwn  
(c)m`iDkw         (d) iehnW iv`coN koeI vI nhIN[    7.You have to decide upon the number of chapattis 

needed for 15 people called for your birthday party program. What measure of central tendency would 

be most appropriate if the data is provided to you? 

(a) Mode        (b)  Mean      (c)  Median    (d) None of these 
8.quhwfI jmwq dy ividAwrQIAW dI AOsq aumr pqw krn leI, ikhVw kyNdrI pRivrqI mwp FukvW hovygw? 
(a)bhulk        (b) m`Dmwn  
(c) m`iDkw       (d) iehnW iv`coN koeI vI nhIN[  

8.To find average age of students of your class, what measure of central tendency would be most appropriate if 

the data is provided to you? 

(a) Mode  (b)  Mean (c)  Median(d) None of these 
9.iksy dukwndwr ny AwpxI dukwn iv`c ju`qIAW dw stwk pUrw krnw hY, auh ies leI iks kyNdrI pRivrqI mwp dI 
vrqoN krygy :  
(a)bhulk               (b) m`Dmwn  
(c) m`iDkw              (d) iehnW ivc̀oN koeI vI nhIN[  
9.A shopkeeper selling shoes has decided to replenish her stock, what measure of central tendency would be 

most appropriate if the data is provided to him: 

(a) Mode   (b) Mean  (c) Median   (d) None of these 
10. AMkiVAW dy smUh dy kyNdrI pRivrqI dw ikhVw mwp  AMkiVAW dy sB qoN Coty Aqy sB qoN v`fy pRyKx dy ivckwr 
huMdw hY :  
(a)bhulk     (b) m`Dmwn    (c) m`iDkw     (d) swry 
10.Which measures of central tendency lies between highest and lowest observation from the following : 

(a) Mode        (b)  Mean      (c)  Median    (d)   All 11. 11. jykr id`qy gey AMkiVAW iv`c sB qoN G`t Aqy sB qoN 
v`D mu`l vwly pRyKxwN nUM htw id`qw jwvy qW kyNdrI pRivrqI dy iks mwp iv`c bdlwE nhIN AwaudW : 
(a)bhulk         (b) mD̀mwn                           (c) m`iDkw        (d) iehnW ivc̀oN koeI vI nhIN[ 
 11.Which measures of central tendency does not get affected if the extreme observations on both the 

ends of a data arranged in descending order are removed? 

(a) Mode     (b) Mean    (c)Median   (d) None of these 

12.id`qy gey AMkiVAW 25,17, 28, 19,12, 13, 45, 34, 30, 37  leI  “45-12” kI drswaNudw hY : 
12.For given data 25,17, 28, 19,12, 13, 45, 34, 30, 37 what does “45-12” represent : 

(a)bhulk (Mode)                  (b) m`Dmwn (Mean) 

 (c) ivcln sImw (Range)   (d) m`iDkw (Median) 

13.ikhVw kyNdrI pRivrqI mwp AMkiVAW dI sMBwvnw pqw krn iv`c shwieqw krdw hY : 
(a)bhulk       (b) mD̀mwn                      (c) m`iDkw      (d) iehnW iv`coN koeI vI nhIN[  
13.Which measures of central tendency does help us to find probability of the data : 

(a) Mode              (b) Mean      



(c) Median           (d) None of these 

14.ikhVw kyNdrI pRivrqI dw mwp  hmySw id`qy hoey AMkiVAW iv`coN hI huMdw hY : 
(a)bhulk            (b) m`Dmwn   

(c) m`iDkw            (d) iehnW iv`coN koeI vI nhIN[  

14Which measure of central tendency is always exist in the  given data : 

(a) Mode                 (b)  Mean      

 (c) Median            (d)  None of these 

15.hyT iliKAW ivcoN iksdw hoxw inSicq hY ? 

(a)iksy tIm dw mYc ij`qxw                                   (b) ie`k pwsy nUM su`tx „qy 7 Awvygw [ 
(c) k`lH mINh pvygw | 

(d) ikRsims 25 dsMbr nUM hovygI[ 

15. Tell which from  the following is certain to happen  

(a)Winnig of the team.    

(b)A die when tossed shall land up with 7on top. 

(c) Tomorrow there will be rain.   

(d) Christmas will fall on 25
th

 December.  
16. k`l nUM sUrj cVHygw, iesdI ikMnI sMBwvnw hY?  
(a)0  (b)1  (c)2  (d) iehnW iv`coN koeI vI nhIN   
 16 The sun will rise tomorrow. What is the probability of this ? 

(a)0      (b) 1      (c) 2   (d) none of these 

17.ie`k ikRkt iKfwrI ny  6 pwrIAW iv`c hyT ilKIAW dOVW bxweIAW | ausdIAW ikMnIAW dOVW AOsq qoN v`D 
hn ? 

17 A cricketer scores the following runs in six innings: 34, 52 ,40,8,102,76. How many runs are 

more than his average score? 

18.quhwfI jmwq dy 8 ividAwrQIAW dI aucweIAW sYtImItrW iv`c hyT ilKy Anuswr hn : 134,143, 128, 
138,,126,145,135,141: 
(a)AMkiVAW dI ivcln sImw pqw kro[ 
(b)ikMny ividAwrQIAW dI aucweI mìDkw aucweI qoN G`t hY? 

18.The heights of 8 students were measured in cms and the results are as follows: 

(a)What is the range of the data? 

(b)How many students have heights less than the median height? 

19. 9 ividAwrQIAW dw Bwr (iklogRwmW iv`c) hyT ilKy Anuswr hn :ikMny ividAwrQIAW dw Bwr m`Dmwn dw 
Bwr qoN v`D hY ? 

19. The following are weights (in kg) of 9 students . 32, 43, 40, 36, 47, 35, 38, 45, 42How many 

students have weights more than the mean weight? 

20.jykr iksy sipnr ijs au`pr iqMn rMg hn(ic`qr dyKo), nUM GumieAw jwvy qW  iks rMg dI qIr „qy rukx 
dI sMBwvnw izAwdw hY Aqy ieh ikMny pRqISq hY ?  
20. When a spinner with three colours  is rotated(see figure) ,which colour has more  

chances to show up with arrow than the  

others and what is percentage of this? 

 



 
 

 

 


